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Sample Paper – 2009

Class – XII

Subject – Mathematics
D.A.V. A.C.C. Public School, Kymore Dist. Katni

First Pre-Board Examination 

Time allowed: 3 hours






Maximum Marks: 100

General Instructions       
       The question paper consists of 29 questions divided into three sections A, B and C. Section A comprises of 10 questions of one mark each, section B comprises of 12 questions of four marks each and Section C comprises of 7 questions of six marks each.
                                                                   Section- A
1. Find ( if (2,(3), ((,(1), and (0,4) are collinear using determinant.

2. If A is of order 3 x 4 and BA is of order 2 x4, then what is the order of B?
 3.      Solve by using determinant.     
[image: image1.wmf]3x21

2424

=


   4         Find the point of intersection of the line 
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 and the plane 
              3x-2y+z+5 = 0

   5.       Find the point on the curve y = x2(2x+3 = 0, where the tangent is parallel 
            to  x-axis. 

   6.       Find a vector in the direction of vector    i+j+2k   that has magnitude 7 units. 
   7.       Write two different vectors having same magnitude.

   8.        If a line has the direction ratios –18, 12, – 4, then what are its direction cosines ?

    9.        Solve 
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   10.     
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                                                  Section-B
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11 IfA= {7 8]' B= L 17} find matrix C such that SA + 3B + 2C is a null matrix.




12 By using the properties of determinant Prove That
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13.  . Find a unit vector perpendicular to each of the vectors 
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 where 
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 = i + j + k  ,    
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 =  i + 2 j + 3 k  
   






  OR
       Show that the vectors 2 i – j + k , i– 3 j – 5 k and  3 i – 4 j – 4 k  form the vertices 

       of a right angled triangle

14. Express the matrix as the sum of a symmetric and skew symmetric matrix
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15. . Find the equation of the line through the point (-1, 2, 3) which is perpendicular to the lines        
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16. Find the area enclosed circle by the x 2 + y2 = 4

17. Solve :  (3xy+y2)dx+(x2+xy)dy = 0
18.  Solve the differential equation  x2 dy + y ( x + y ) d x = 0, given that y = 1 

       when x = 1

        OR      x  dy  =  y  (  log y  -  log x  + 1 )   dx
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 19.     Find the area of the region bounded by y2 = 9x, x = 2, x = 4 and the x-axis in the

            first quadrant.
20      Using differentials, find the approximate value of  (255)1/4 upto four places of    . 
           Decimals21.    The radius of a circle is increasing at the rate of 0.7 cm/s. What is the rate of  increase of its circumference? 
22. Find the equation of all lines having slope 2 and being tangent to the curve
            [image: image16.emf]                     OR         [image: image17.emf]
                                                     SECTION- C

23.  Find the area of the region bounded by the two parabolas y = x2 and y2 = x.:
            OR   

        Find the area of the region bounded by the parabola y = x2 and y = /x/ .
24. Find the shortest distance between the lines 
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25 Using elementary transformations, find the inverse of the matrix 
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26 If A=
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Find A-1. Using A-1, solve the following system of linear equations 
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     27.     Prove that the volume of the largest cone that can be inscribed in a sphere of

           radius R is   8/27     of the volume of the sphere.
 OR       Show that the semi-vertical angle of a cone of given surface area and maximum volume [image: image24.png]


is   Sin-1(1/3).
28. Find the equation of a plane passing through the points (1,1,1) , (1,(1,1) and ((7,3,(5).

29. Prove that  
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